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— 37 719281 7T %2 NON N2 NN I’N
You cannot find it, except by this wine and this ship

Overview’

X995 17 concluded that the ruling of 01 " (regarding the ship and wine which sunk)
1s valid only if both the owner of the ship and the owner of the wine both said 77’
(77 1, and 11 72°00). It is only then that 1" rules j0° X? 101 X? OXY 710° X7 103 oX. Our
MooIn explains this ruling.

For the prmn will say to the other party, ‘you have no claim against me at all
unless you fulfill your stipulation’.

nvoIn asks:
= MW N Y3 1) DX DIPN U197 9NN ON)

And if you will say; that nevertheless if the 1°71 5v2 gave the entire rental fee -
- 119195 PININ PAVNY HraWa 39) 79N KIY 971 S8NT 1Y 999U 9110 XY NN

Why should not the renter of the boat (the 7771 9v2) take back the rent for the
half way, which he did not travel; just because the 272w (the 71907 %¥2) is a
P, does that justify that he should profit for something which he did not provide?!

mMooIn has an additional question:
- s‘lbﬂ NIV 7970 980 95V 99V TP03% N11ID) 910D NON NNRYNYN NINR MIIYT T

And additionally, the rule is that rental fees are not due to be paid only until
the end of the rental agreement, so why should the 22 lose the rental for the

half way that he did not travel; he does not owe him for that service, since it did not
happen, so there was never any obligation to pay it (for 71025 X9X nnonwn IR MOWw)?!

" In our xm3 the text reads 77 11 17 71°002 KPR 2 NMown X2 (instead of 7 71700 77 172 KIR KX 7NK K).

% See ‘Overview’ to X2°°X 71"7 '010 and X9X 7"7n on the previous Y.

? The P17 is the one in the possession of the money. If no money was given (jn1 X?) the p1mn is the 1on Y3, if the
money was paid (jn1 oX) the prmn is the 71°507 Hva.

* Therefore in the case where the 71 9v2 did not pay yet (yn1 X?) the rule is 10 &2, for the 17 %v2 (as the prmn) can
argue that the 71°9077 Hv2 cannot provide 11 71°90. However where the 712°0077 2v1 is the prnn (for the 171 2v2 paid him
already [1n1 oR]), he is not required to return the money (71 X?) for he can argue that the 17 %v2 cannot provide 1
ar.

> Regarding the half trip that he did take, it is understood why he has to pay (even though that nno>nwn A8 MW
71027 X9X and he did not finish the entire trip), because at this point the N2> (for half the trip) ended since they are
not capable of continuing the trip (for they both said 7r).
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N1B0IN answers:
- ANYRY 1YY RNOY N¥INI 199Y 1Y 1Y 19 1YY W

And one can say; since the 777 %¥2 paid for the rental already, this indicates that

he is willing that the rent should belong to the 7150771 Yv2 immediately -
- %y INWY NY BN ANIRY 19YW RNOY 1) 19 NYTY 91039 RIN NNYNUN NINT 23 YY 9N

Even though that usually the ruling is that rent is not due until the end,
nevertheless, here the 712 paid it with this intention that it should belong to the

7°own immediately; if (eventually) there will not remain for the 1>>wn any obligation
which he did not carry out.

Mmoo offers a new and different interpretation of our X"310:’
=157 XY INAN 1N XY OX AT 129 0N N0 79999 XN WIND 9NN 12 PNYY 1292

And the 2''2%1 explained, this which the X713 asked, regarding ano ;72°20 and 1>
1, ‘why if he did not give, he should not give’; this question -

= 191 929V 7991 28N 99V 112 XY INNIN NIN 7999 NY
Was not asked to mean that he should pay for the entire trip, but rather why

should he not pay the rental for the half way which he traveled -
- SoNN NINY 193 115 RYYW XVIW 97 KIY 7940 s8N 99¥ YaN

However the rental for the half way which he did not travel, it is obvious that
he need not pay, since he is an D1R.

mdoIN responds to an anticipated difficulty:’
= D102 XD 1N ON NPT RON 0PN Yon

% In our case of 77 1, there is no remaining obligation on the 71°507 ¥ since the 171 9¥2 cannot provide the 77
(and the 71°9077 Y¥2 cannot provide 11 7100). [We assume that 90982 19w R7°w 1301 19 nvTY, since this 10w deviated
from the norm and paid the m7°>® in advance, indicating his intent that the 2°5wn should retain it, if no outstanding
obligation remains.]

7 Previously X2& 71"71n2 [TIE footnotes # 10-12] on X,y we understood the s'xIm3 question Jn° X2 *XnX 101 X2 O, to
mean that he should pay for the entire trip (even for the half that he did not travel), since he said 77 7 and he cannot
fulfill his stipulation. Now n1o01n will offer an opposing view.

¥ See previous X2X 71"71n [TIE footnote # 7], where mooin asked why should the o1 pay the worker (the 725071 ¥2)
for the portion of the trip which he did not go, since the 127 was the same 01X as the worker, in which case the rule
is that the 72%W need not pay the worker, w">*y. The 1"2" there [TIE footnote # 14-1jn5] answered that here it is
different since the n1oo7 %v2 suffered an actual loss (as opposed to the 2°%¥19 where it was merely m1™M7 nyIn);
however the 0"2" here disagrees with the 1"27 and maintains that indeed the 75w need not pay for the second half
of the trip. See ‘Thinking it over’ # 1.

? Previously, X2x 7"7n2 [TIE footnote # 12], mooin ‘proved’ that 10° X *XnX 101 X ox means that he should pay even
for the second half, from the ruling of 91> X Jn1 o8, which ‘surely’ means that he cannot take back even for what he
paid for the second half. However now that the "2 maintains that he pays only for the first half, how can we
understand the ruling that 210> X 101 oX even for the second half, but why is that any different from 0> X% >N 101 X,
which refers only to the first half. In short; why does the X713 assume that if he did not give for the second half, he is
not required to give it, but nevertheless if he gave for the second half he cannot get it back?!
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Notwithstanding the above (we do not require him to pay for the second half [if
he did not pay it yet]), regarding this which the Xn»91 ruled, ‘if he paid he

cannot take it back -
- 79 WP RY 19N KW 7970 280 99 199N Y93 910 XYT ¥awnT

Which indicates that he takes nothing at all back, even the rental payment for

the half way, which he did not travel, the X7 had no difficulty at all with this
ruling (even though we maintain that if he did not pay yet, he is not liable for the second half);

the reason he does not get back the second half is -
= 995 9N NOY 19D NN INID 0PY 191199 PINI NINY 11994

That since the 71°0071 Hv2 is the Pt in the money, and he is prepared to fulfill
his stipulation (but he cannot since the 7121w said 717 1°), therefore it is understood
that he need not return anything to the 11 %va.

mdoIn explains the continuation of the X713 according to the 0"2°7:
= 1193910 1°P99 KT D917 INNIT 1T N9V NT 122 1YW

And %95 27 answered that the ruling of 1"7 is valid in a case of 17 /7239991 777 3%, that

whoever is holding the money, we cannot remove it from him -
1NN 1YY 1953097 NOSINN DI T TNIN 0PY 9193 TINRY 1193 195315 N PN

For the Pt will say to the other party, since you cannot fulfill your stipulation
(because you said 117), so your 212 caused your loss since the rule is 1792m% RYX7

IR757 199¥; the onus of proof lies on the one who wants to take away money from the pim.

The &1 continues:
- PP9IN BN 1P DND N300 *an

‘However by ano 9% and an® 1% (where both parties said ano) the rule is they

divide’ the rental fee -
- SPIY2 1IN NPYT TINY TN O8N T9Y PPN BN VNN 12 PHYY 19295 7Y NPT NNA

Regarding this ruling of P71, the 2''a" is in doubt" whether they divide only
the rental for the half way which he traveled, so the 1°77 5v2a pays the 71°507 Hv2

only a fourth of the entire rental trip, for he is not obligated at all to pay for the second half,
which he did not travel -
NI DYDY 11 11 950 429 195 7910 99Y 1N MPIYUA Y3 PPN IN

Or they divide the entire rental fee, and he pays half of the entire rental fee for

19 The 0"97m maintains that from here on it is a new (different) mpon.

"' See “Thinking it over’ # 2.

"2 It is not clear what moo1n means with these words; 7277 122w 113, We are discussing the second half of the trip.
[Perhaps '01n means that by paying him for half the trip the 721 is not really losing since he went half way.]
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the journey, since he already traveled partially and the' 71507 %v2 is prepared

to fulfill his stipulation and bring another ship to take him the rest of the way if the 171 %2
will bring new wine."*

Summary
By 71 1 17 71°90 the money remains by the P, By a7 1 ono 71°90, the "2

maintains that he only pays for the first half of the trip, even though that if he paid
already he receives nothing back. By ano 71 ano 12°90 the 0"2°1 is unsure whether
he pays a fourth or a half.

Thinking it over
1. The 0"21 argues with the 7"2°7 in the case of 737 7" oN0 71°50 and maintains that

he only needs to pay for the first half of the trip.”” What would the 0"2>1 maintain
in the case of and 11 17 71°50, where the X723 asks 710> 8% "XaX 101 oR, will the 2"2°1
agree or argue with mooin that the question is that he should get back all the
money'® even for the first half of the trip?'’

2. Is the po0 of the 0"2™ (in a case of PP ano 11 ano 90),'® when he did not
pay yet, or even if he already paid the full half?

' Alternately, this can perhaps be referring to the 17 9¥3, that he can bring more wine (see footnote # 14).

' The reasoning for the two sides of the query may be understood as follows; in the case of ;i 1) ono 71°00, he only
pays for half the trip (according to the 0"2°7), so it follows that by ano 11 72°00, he should also not pay for the half
which he did not travel. This is the first side of the query. However, one may argue, that in the case of 1™ anod f150
71, he is not obligated to pay for the second half, since the 171 92 is an 01R; he said 77 7 and he cannot produce it.
However in the case of ano 1 1150, where the 177 9v2 can bring new wine and continue with the trip, perhaps he
should contribute to the second half of the trip as well (the second side of the query), since he is not an 01X. [The
171 992 certainly does not have to pay for the entire second half, because the 715071 ¥2 is also not producing a new
ship. It is as if they both agreed to end their rental agreement and split the rental fee.] See ‘Thinking it over’ # 2.

1% See footnote # 8.

16 See xm2°% 7"710 on the 'R T [TIE footnote # 7]. See there that there is a 'w19% PR' [TIE footnote # 8], which
maintains that the question of 71° X% *XnX was only for the second half of the trip, not the first.

"7 See X"av.

'® See footnote # 11.
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